ECONOMICS 207
SPRING 2007
PROBLEM SET 2

Problem 1. Do the following problems from the book.

a. Section 2.3
1) 2a
2) 2d
3) 2e

b. Section 2.3
1) 3a
2) 3b
3) 4a

¢. Section 3.1
1) 1a
2) 1b
3) lc

d. Section 3.2
1
2) 2

e. section 4.2
1) 1a
2) 3a
3) 6

Problem 2. Carry out the following long division operations.

& 13299
b.
10 [925

Date: January 17, 2007.
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© 42 [2058

d. 213 | 12412

Problem 3. Complete the square in the following and then write in the following form (z +a)? + c.
For example the first problem would be written (z + 1) — 1.

a. 2 + 2z

c. 3x2 + 12z

d. 422 — 16z



ECONOMICS 207 SPRING 2007 PROBLEM SET 2

e. 822 — 16z + 1

f. 2522 — 20z + 7
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Problem 4. Simplify, add, subtract, multiply or divide the following fractions. Express all answers
in reduced form.

54 e
a. g5 t 16
17 3
b. 3 + 15

. (1) (

Sl
N———

8a 3b 5
e.ﬁ—f';‘f'g
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f.

2 ab4-b?
a—b +

_a_ _ _
ab—b? a3 —ab?

Problem 5. Factor the following.

a. 622 — 1lz — 10

b. 1222 — 16z — 28

c. 922 — 3z — 30

d. 1822 + 3z — 10

e. 24x% — 20z — 16
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f. 8z2 + 29z — 12

Problem 6. Solve the following equations for x.

a. 2x + 3 = 13

b. 7x + 3 = 27 — bz

x + 1 __
C. Gom = 22
d 2z =5 _ 5
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3

x + 1
& Tt -2 — 8

=

xr — 2 _
L e=9er9 = 3



8 ECONOMICS 207 SPRING 2007 PROBLEM SET 2

Problem 7. Solve the following equations for x.
a. 22 +2r +1 =0

b. 2522 — 20z — 320 = 0

c. 322 + 152 — 9 =0
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d. —42%2 — 6z + 54 = 0

e. 822 — 12z — 56 = 0

f. 422 — 22 +5 =0
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Problem 8. Solve the following equations for x;.
a. 9z;/* — 3 =0

b. 36277 — 6 = 0

c. 88277 — 3 =0

e. 1622;° — 2 = 0
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f.14582,%7 — 2 = 0

g 507z7% — 3 =0

h. 1250277 — 2 = 0
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Problem 9. Consider the following quadratic equation in x;.
3paszi + 2paszy + pay = wy
In each of the problems below solve the equation for x; for the given values of as, as,a1,p and

w1i.
a. a3 = —1,a9 = 20,a; = 100, p = 20 and w; = 500

b.as = —1,a3 = 5,a1 = 50,p = 10and w; = 20
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c. a3 = —2,a3 = 50,a; = 200,p = 10 and w; = 4860

d. a3 = —3,a3 = 50,a; = 100,p = 5 and wy = 1000



